%%\ 29. The path of a satellite is given by the parametric equations

x=4cosr+ cos 121

v=4sint+ sin 12¢

The upward velocity at r = 1 equals

(A) 2.829 (B) 3.005 (C) 3.073 (D) 3.999 (E) 12.287
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iE 3‘ 30. As a cup of hot chocolate cools, its temperature after r minutes is given by

H(f) = 70 + ke™®¥. If its initial temperature was 120°F, what was its average
temperature (in °F) during the first 10 minutes?
(A) 609 (B) 82.3 (C) 955 (D) 96.1 (E) 99.5
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The object achieves its maximum speed when 1 =

@ 31. An object moving along a line has velocity v (1) =1 cos 7 — In (r = 2). where 0 = 7 = 10.

(A) 3.743 (B) 5.107

(C) 6419

(D) 7.550 (E} 9.538
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32. The graph of /. which consists of a quarter-circle and two line segments. is shown
above. At x = 2 which of the following statements is true?

(A) fis not continuous.

(B) fis continuous but not differentiable.
(C) fhas arelative maximum.

(D) The graph of fhas a point of inflection.
(E) none of these
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33, LetH(x)= jo F(r)dr, where f s the function whose graph appears below.
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The tangent line approximating H(x) near x = 3 is H(x)== ""'\M'{\Q ‘
(A) —2x+8 (B) 2x—4 (C) —2x+4 (D) 2x -8 (E) 2x -2

Near X= 2, plu% W 3 for x

2= f*" (OAL  Rnd A ava wder Ane
; e fom 0 1o 2

(refev 4o qph)

— () — L)) + 20XE) ==
TS ls)=-2. | O (2-2)

We neod ‘“iﬂ"‘* Wtz an equaton ot-a |
Wt pid W= dope - devwatve ‘(X}w« i g%mm

Ut fwdd by, uswg =2 awd(52) / ) ¥ “ - g %) 2“’":
-2=2( %)+b ~ L
~2= (+o X,_.\é% . 0/

v=-O




A e
34. The table shows the speed of an object. in feet per second, at various times during a
12-second interval.

time (sec) | 0| 316178 [10]12
speed (ft/sec) |15 | 141118 | 7] 3] 0

Estimate the distance the object travels, using the midpoint method with 3 subintervals.

(A) 100 ft (B) 101 ft (C) 1L (D) 11211 (E) 1501t
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